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him/her permanently from all future examinations conducted by the Board.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO.

% DS22

P.T.O.

————

PN



fereTTe FasrepaT Qiett #t 37 g Fasrpta (dfem)
FT A Jaq1eY, 5 TR fefra grr ‘“ara
AT BETITATE ?

(A) IS IETHTAT

(B) TrAT-AT®

(C)  FUHI-STS TETGT

(D)  Soft-goft

(B)  argand e

fr=afeaa & & #1997 38, YR F iU B
TREATEAT 1?r TE TSR ?

A)

(A) TSt

(B) Wity

© TFEE

(D) =it

(B) 3raRd wed

HTEMOT ST TR BT RT3 T H T 50,806 TAT IHT ST
Y5TYHT 59,210 BT AT 2| T TN :

(A) 38,200
(B) 38,360
(C) 39,400
(D) ¥ 38,100
(B) IraRa ueA

ST AT IS’ 2025 % TN, MSTRATA %
'af TPk “-IISQI(“I et QF;: Mll“ld Iﬂbiﬂ

ST |

(A) TG

(B)  wler

(C) AT

(D)  TaTg ATETE
(B) rIaRa ued

o

Name the iconic painting of the Kishangarh
School, acclaimed as the ‘Monalisa of India” by Eric
Dickinson.

(A) Bundi Ragamala

(B) Dhola Maru

(©) Roopmati-Baz Bahadur
(D)  Bani-Thani

(E)  Question not attempted

Which of the following words is not found in the
Preamble of the Constitution of India ?

(A) Fraternity

(B) Liberty

(C) Federation

(D)  Republic

(E)  Question not attempted

Which one of the following Rajasthani singer,
made the Maand style of folk singing popular, at
the national and international level ?

(A) Gavari Devi

(B)  Moti Devi

(©) Harkabai

(D) Meethibai

(E)  Question not attempted

On simple interest a certain sum becomes ¥ 50,806
in 3 years and ¥ 59,210 in 5 years at the same rate
of interest. The sum is :

(A) 38,200
(B) 38,360
(©) 39400
(D) X 38,100
(E)  Question not attempted

According to the Rajasthan State Budget 2025, a
Gharial Rearing Centre, will be established at
in Rajasthan.

(A) Kumbhalgarh

(B) Kota

(©) Karauli

(D) Sawai Madhopur

(E)  Question not attempted



6. 2011 B TOAT & JTAR, ITCRATT HT &
T fepa=T AT ?
(A) 928 HEEAT/1000 T&W
(B) 933 HEeAT/1000 T&W
(©) 943 AEAT/1000 T&W
(D) 914 HAEAT/1000 T&F
(B) 31 aRd e
7. WG I IRT AT 680 M T 820 H WG| 3T
TETT I 5% BT & A 3T A a6 15% o9 &
T | W AN ST § IURT 19 T g1
SerSTel T B8 | (ST o 2 T 6 e
(A) ™, 5.93%
(B) T, 5.86%
(©) &, 5.12%
(D) <, 10.25%
(B) IraRa ueA
8.  IIHATST, TR 3R MY & UETEr &= 7 aiely
ST el SieiT BT T FHET AT ?
(A) =t
(B) =ret
© et
(D)  Famr
(B)  3raRd wed
9. fr=fatad # ¥, fpae faera Toert wra-gie
“TUNTURRY” T, TAAT B AT ?
(A)  HERTS Hpe
(B)  WewahTeT SLtt
(C) e g IETad
(D) HfOTIYHT
(B) I IaRa ued
10. TEtAREd ¥ § 6T WA IT59 § “SNTETHTeT
IR Rerg” Roa g2
(A)  ITITE
(B) ¥
(G
(D) FARCH
(B) rIaRa ued
# DS22

10.

What was the urban sex ratio of Rajasthan as per
the Census 2011 ?

(A) 928 female/1000 male
(B) 933 female/1000 male
(C) 943 female/1000 male
(D) 914 female/1000 male
(E)  Question not attempted

Saurav bought two items for ¥ 680 and ¥ 820
respectively. He sold the first item with 5% loss
and the second item with 15% profit. Find his
profit or loss percentage in the whole transaction.
(correct to 2 decimal places)

(A) profit, 5.93%

(B)  profit, 5.86%

(©) loss, 5.12%

(D)  profit, 10.25%

(E)  Question not attempted

The dialect spoken in the areas of Banswara,
Dungarpur and nearby hilly areas of Rajasthan is
called :

(A) Wagdi

(B)  Dhundhari

(©) Hadoti

(D) Mewati

(E)  Question not attempted

Who among the following, composed the famous
Rajasthani poetry collection “Pagfero” ?

>

(A) Meghraj Mukul

(B)  Satyaprakash Joshi

(C©) Gordhan Singh Shekhawat
(

(

o

)  Mani Madhukar

) Question not attempted

es!

In which of the following Indian state is the
“ Agasthyamala Biosphere Reserve” located ?

(A)  Andhra Pradesh

(B) Kerala

(C) Assam

(D) Karnataka

(E)  Question not attempted

P.T.O.



11.

12.

13.

14.

15.

frfefEd # o, fFad Torem ¥ ‘s aredt’
(TA-HIHIT) W, 9=t Fersrepett & forw, fqeersgia
Tl 9T Y ?

(A)  dwe fre

(B) TS

(©)  puret g SrETaa
(D) BT BISRY

(E)  argand e
SerR Y, Fetaiad # @ 769 @i 9 O |
AEAT® R T Sad gU Suswt ae fetad Aes,
TEFHL T BT ?

(A) =TT

(B) HgaTgH

Q) gz T

(D) srRTg

(B) IraRa ued
O ST Sfaa: ffaiad | ¥ e st et
g7

(A) ez HEETR
(B) daa St

©) HWHTIIO
(D)  SRTTet Bt TS
(B) IraRa ueA

A 1949 H, ‘gEa¥ () TERAT’ HT IS,
FrAfciEd # W 69 TShl &, THIHIT b T8 gl
qT1?

<t foT 7T fpedt 7 ¥ FEH UG I B A
I

(A)  IAWR, NAYT, FIAT 3 AT

(B)  STOYR, ST, SIAEHY 3R AHTR

Q) ciw, TR, TG 3T ATEqT

TS, FHieT, T4t 3T AT

(B)  3raRd e

A, B 3T C 7 AT T 36,000, T 40,000 37T T 48,000
T Tt H¥h ATPIETET 9 &t a9 % 31 H T 62,000
FHAATHH, A 3T C F ATHIN # T AR ?

(A) % 5,000
(B) 6,000
(© 6280
(D) 4,000
(E)  argand ued

11.

12.

13.

14.

15.

Who among the following, from Rajasthan, earned
international acclaim for his portraiture on ‘Blue
Pottery” ?

(A) Birbal Singh

(B)  Dayaldas

(C) Kripal Singh Shekhawat
(D) Komal Kothari

(E)  Question not attempted

In which of the following folk dance forms of
Jodhpur, do women carry perforated pots, on their
heads, with burning lamps inside ?

>

(A) Chang dance
(B)  Ghudla dance
(©) Gindar dance
(

(

)

)  Agnidance
E)  Question not attempted

The Luni River ultimately drains into which of the
following ?

(A)
B)  Chambal River

C) Rann of Kutch

D) Bay of Bengal

E)  Question not attempted

Indian Ocean
(
(
(
(

Greater Rajasthan was formed in March 1949, after
the integration of which of the following states ?

Choose the most appropriate answer from the
options provided below :

(A) Alwar, Dholpur, Karauli and Bharatpur

(B)  Jaipur, Jodhpur, Jaisalmer and Bikaner

(©) Tonk, Dungarpur, Kishangarh and
Shahpura

(D) Banswara, Kota, Bundi and Jhalawar

(E)  Question not attempted

A, B and C entered into a partnership by investing
% 36,000, X 40,000 and X 48,000 respectively. At the
end of the year, what is the difference between the
shares of A and C out of the total profit of ¥ 62,0007

(A) 5,000
(B) 6,000
(C©) 6,280
(D) 4,000
(E)  Question not attempted



16.

17.

18.

19.

20.

ToTET |, TSt AU’ & @396 i U 2

(A) HasRe™

(B) gt FiTieTaT
(C) AfcaTST
(D) Gt

(E)  argand e

IIET Tee <eh | et d & &, S i=-|T =0T 37
FaTare ?

(A)  gETTI
(B)  wfdterar
©) It
(D) Tpa™
(

E) 3 and wed

TR & frfeiaa # ¥ 69 g1 7 (grwet &t
e ) T MRV FIT FAE ?

T feT T fapedt 7 ¥ e SUgE TR BT AT
B

(A) Iw

(B) SIHeTER

©) 3R

(D)  fteTarsT

(B) IraRa ueA

TSR T9E 202526 & IUR, AFHT F AT
ISPt he, TS & 6@ TR | Ma fham
STTQT ?

(A)  \IAR
(B) BT
© =R
(D) FrEaTET
(

E) 3raRa wed

TTRATT BN &F tertEd faamm § F Si-41
foumr Tow &7 iy TRt (et W
TepTat) o T fFereT 3T TH=g BT BT BT ?

(A) & Ty, TSR TIHR

(B) T HATH W, TSI TXHR
(C) T TIME [T, TSI TIHN

(D)  TROTTHT [T, TSTEAT TLHTR
(B)  Irgand e

16.

17.

19.

20.

Who was the founder of the “Niranjani sect” in
Rajasthan ?

(A) Saint Haridas
(B) Mehaji Manglia
(C©)  Mallinathji

(D)  Pabuji

(E)  Question not attempted

In the disaster management cycle, which of the
following stage, will come as the last stage ?

(A)
(B)  Response

Recovery

(C)  Preparedness
(D)
(E)  Question not attempted

Mitigation

Which of the following regions of Rajasthan has
the lowest forest cover (area-wise) ?

Choose the most appropriate answer from the
options provided below :

>

(A) Churu
(B)  Jaisalmer
(©)  Ajmer
(

(

)

)  Bhilwara
E)  Question not attempted
As per the Rajasthan budget 2025-26, the Centre of

Excellence for Maize, will be established in which
town of Rajasthan ?

(A) Bharatpur

(B)  Bikaner

(©) Barmer

(D) Banswara

(E)  Question not attempted

Which of the following departments of the

government of Rajasthan performs monitoring and

coordination function for all the municipal bodies

(Urban Local Bodies) of the state ?

(A) Department of Home Affairs, Government
of Rajasthan

(B) Department of Chief
Government of Rajasthan

(C) Department of Local Self Government,

Government of Rajasthan

Department of Municipalities, Government

of Rajasthan

(E)  Question not attempted

Operations,

(D)

P.T.O.



21. ‘WIS A UgE TIIE
(A) TH
(B) 3
© ==
(D) fo=
(B)  Srand ued
22,  ‘SETEASIRBAE?’
IO TR H WA BT HIA-HTHE S ?
(A)  GEUaTES gAA
(B)  uR™TUTaTE® FAATH
(O  THUTaTas T
(D)  WeAETIH FIATH
(B)  SrIanad wed
23, faeAfetiga & & Bi-At ferraTaes ST a8 &2
(A) T
(B) fewTea
©) gaa=
(D) THEIANAATR
(B)  Srand ued
24.  ‘ADVERTISEMENT 9Ts5 ®t fa=si & :
(A)  faem=
(B) fafu=r
(©  3gamoT
(D) g3
(B)  STIanad wed
25. {ATREd Gl | | HI-HT I 3 JAbIeT
FTIIEIE ?
(A) it 3ree fere arsTuR wemTE o |
(B)  fg areft-ar+lY fperT & |
(© A P TEABIAT 1T AT |
(D) wEdTATA ST @ |
(B) 31 R wed
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26.

27.

28.

29.

30.

STHAT T TXHRT 0T T 3T HI & 8 o

Tepe Ior-=0 7y fepaT ST g 2
(A) BT ML

(B)  ATHRE

©  u-faata

(D) FmF

(B)  SrIana wed

forferiaa oreat 9 ¥ - ot Rarsr =8t &2
(A) AT

(B) fewe
© 3
(D)  @irer
(B) 31 wed

e REd oSt § § BIA-97 “BA’ BT TG @G
T& T2

(A) S

(B) =T

(©)  dest

(D) AT

(B) 31N wed
“SANATOI9T 9Teg T feret 9Teg BT ;
(A)  wemsit

(B)  wreEAst

(©  ghsh

(D) wrerrsi

(B)  STIand wed

frfaRad # & Fi9-31 T oraTaE faetor #
ISTEOTE &2

(A)  FETE H AR-9X G 7 @GAT {IheT B
(B) I -G SHISY Fgd TH £ |

(©) =T F U THB I HIS 2|

(D) HHR AT ATA AT B |

(B)  3raRa wed




31.

32.

33.

34.

ferfeTRar & @ o7 Ffeer T ISTEL0T R :
(A) T

(B) wEwa

© T

(D) anfiee

(B)  3rand wed

FrrefearRaa arerat & @ fpad v fepam w1y
gL ?

(A) ST ERA RG]

(B) VAU TR

©) ErFTS gl

(D) IwuT e el

(B)  3rana ued

-1 3 ST 0 T e Qreat T e geit-11 3 f5u

T IAh FATATE T U3 BT :
R-1 () 11 (F59)

() | e @ |4

(b) |7 (i) | 3y

( (

(

o |31y iii) | T8
d |gf (iv) | =2
A fou T feepedt H 9 WEY ST BT T BT :
) ()-(iii), (b)-(iv), (0)-(i), (d)-(ii)
(a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(@)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(@)-(iv), (b)-(ii), (c)-(i), (d)-(iii)
T

(A
(B)
©
(D)
(E

\_/

TTCTRE TeaT T 15 2TeRT T T HITAT :

(@ T

(b) draTEE

() o

(d) HTH

(e) wEU

T Tz U forsedt 7 O TR SUGERT 3R BT T

35.

36.

37.

38.

39.

40.

Tt ST T BT T A
(A)  ITEIASTEAT

(B) @

© FHIIIA

(D) o1 STETAT

(B)  Srand wed

“37e & BT T AT IR BT 3T 3

(A) 3oy iR BT 9T veht &7 e ST |

(B) eI et A ST T &1 ST |

(C) g iR &t fa=T voTe % %l wTad &t
ST

(D) 3ty safer Bt wRET frera |

(B) 31 ana wed

~

“HETH oTeE H ST E :
(A) =8
(B) =&
©
D) =

(

) ITART weT

FrfeiEa # ¥ 915 I T 99 FIT
(A)  FXH HIT GA IESE |

(B)  HY TH I qH 3B TG ST |

(©)  Teft R WA Tl BT hrg T 2 |
(

(

™

>

D)  HT &t HAIA B IETE |
E)  3raRd ued

(A) ST+
(B) ST+ 3T
©) ST +A
(D) ST+

(

E)  3IraRd ued

P’ T F ToTT HE AT :

(A) ST %pU TT IYHW BT 7 AT &l
(B) & o= wga 3uhR RFU T &
(C) S =AT AT EIMET

(D) S TFU TTT IUHR Bl ATAATET
(B) 31 wed

P.T.O.



DS22

Choose the most appropriate Hindi word for the
word ‘"MEMO'.

(A)  TI-TIHET T
(B) @uUx
© A=

(D)  wxf

(E)  Question not attempted

Which of the following is the correct
transformation of the given Interrogative
sentence into an Assertive sentence ?

Isn’t virtue its own reward ?
A)  Virtue is its own reward.
B)  Virtue may be its own reward.

(

(

(C)  Virtue is rewarding!

(D)  Virtue is not its own reward.
(

E)  Question not attempted

Fill in the blanks in the given sentence by

choosing the most appropriate words from the

options provided :

You may play with my pet , but my
boy, do not cause any harm to it.

(A) dare, deer
(B)  dire, dear
(C©)  deer, dear
(D)  dear, deer
(E)  Question not attempted

Choose the correct Passive form of the given
sentence from the options provided :

The lawyer gave Arun the details of his uncle’s
will.

(A) The lawyer is giving Arun the details of
his uncle’s will.

(B)  Arun was got the details of his uncle’s will
from the lawyer.

(C)  Arun was given the details of his uncle’s
will by the lawyer.

(D)  The lawyer will give Arun the details of
his uncle’s will.

(E)  Question not attempted

45.

46.

47.

48.

Choose the most appropriate option to convert
the given sentence from Direct Speech to Indirect
Speech :

He asked, “What were you reading yesterday

night ?”

(A) He asked what I had been reading the
previous night.

(B) He asked what I have been reading the
previous night.

(C)  He asked the previous night what I was
reading.

(D) He asked what was I reading the previous
night.

(E)  Question not attempted

For the given sentence, choose the most
appropriate answer from the options provided :

Air-pollution is serious problem in Delhi

these days.

(A)  the

(B) an

(C) some

(D) a

(E)  Question not attempted

Identify the grammatically most appropriate
sentence from the options given below :

A)  Ihave seen never such a beautiful sunset.
B

(

( I have never seen such a beautiful sunset.
(C)  Iseennever such a beautiful sunset.
(

(

~

D) Inever have seen such beautiful sunset.

E)  Question not attempted

Which of the following is the correct
transformation of the given Assertive sentence
into a Negative sentence ?

I am happy with what I am earning now.

(A) Iamhappy, I am not earning now.

(B) Iamnot happy that I am not earning now.
(C©)  Iwill be happy if I earn more than now.

(D) I am not happy with what I am earning
now.

(E)  Question not attempted
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For the given Assertive sentence, choose the
correct Exclamatory sentence from the options
provided :

It looks very odd.

(A) How odd it looks!

(B) Itreallyis odd.

(©) Odditis!

(D)  Looks very odd, right ?

(E)  Question not attempted

Choose the most appropriate option to translate
the given sentence from English to Hindi :

Three armed men barged into the manager’s
cabin.

(A) @ ZeEe reHr AR F Brwe |
S

(B) @ zfmEe eHt SR F BrweT |
T A |

(© @ SERET MEHT A & HIHRT |
STEREE ! A |

(D) FSR F 9 emnEe et ot st
HTHT A FTRET 2T

(E)  Question not attempted

Choose the sentence with the correct usage of
Punctuation from the options given below :

(A) Narayan Singh; my coach will teach me
new football techniques.

(B) Narayan Singh - my new coach will teach
me new football techniques.

(C) Narayan Singh my new coach, will teach
me, new football techniques.

(D) Narayan Singh, my coach, will teach me
new football techniques.

(E)  Question not attempted

52.

53.

54.

55.

Fill in the blank by choosing the correct option :

I saw Rohit a concert last Saturday.

(A) on
(B) off
(C) at
(D)  since

(E)  Question not attempted

Choose the most appropriate English translation
of the given sentence from the options provided :

“I T= A T T2 STes-H-51eg 3 1 =Meu |7
(A) Ithink so you come quickly to here.

(B) I think that you should come here as soon
as possible.

(C) I think that you must arrive to this place
quick.

(D)  In my thinking, you come fast here.
(E)  Question not attempted

Fill in the blank by choosing the most
appropriate answer from the options given
below :

He hinted that he some pocket money.

A)  want
B)  wanted

(
(
(C©)  wanting
(D) had want
(

E)  Question not attempted

Fill in the blank in the sentence given below by
choosing the most appropriate answer from the
options provided :

adults know how to conduct themselves
in public places.

(A)  Much
(B) Many
(©)  The few
(D) Many an

(E)  Question not attempted

P.T.O.



56.

57.

58.

59.

60.

TrfarEd ¥ ¥, 69 wieq @i &, “d9 TRa”
TEd & TEd, TR e BT Afafa H F g
TATTATE 2

(A) TR
(B) SATHA
(©)  =reEwTe feet
(D) Ear#HEA
(E)  argand e

ST T 2T 2

(A) 263G 1950
(B) 267w 1947
(C) 267w 1949
(D) 26 AT 1947
(B) 31 aRd e

ST 3T UTRRAT & &= AT HHAT Bt Bt
TS TS

(A) 1070 FeeY
(B) 970 TepHt

(© 1270 Tt
(D) 1170 fomt
(B) IraRa ueA

A F TF X T 800 H WIS 3R 3H 10% WATH & T
B 1 1< TS3T| B = 3§ 15% T % |1 C 1 = feaT |

C ¥ 39 T & {10 a1 9o I ?
(A) T 976

(B) 1,000

© T1,012

(D) %920

(B) I IaRa ued

ITE (A +B) BT20% = (A—B) HT 50%, ATA B 2:
(A) 3:2

(B) 5:2

C) 8:3

(D) 7:3

(B)  Irgand e

% DS22 10

57.

59.

Which of the following tourist spots has been
selected under the “Panch Gaurav” initiative to
represent the Jaipur district ?

Amber Fort

Jantar Mantar

C) Nahargarh Fort

Hawa Mahal

E)  Question not attempted

The Constitution of India, was adopted by the
Constituent Assembly of India on :

(A) 26 January 1950

(B) 26 November 1947

(©) 26 November 1949

(D) 26 January 1947

(E)  Question not attempted

The total length of the international border
between Rajasthan and Pakistan is approximately :

(A) 1070 km

(B) 970 km

(© 1270 km

(D) 1170 km

(E)  Question not attempted

A bought an item for ¥ 800 and sold it with 10%
profit to B. B sold it with 15% profit to C. How
much C paid for the item ?

(A) %976
(B) 1,000
(€ 1,012
(D) %920

(

E)  Question not attempted

If 20% of (A +B) =50% of (A—B),then A:Bis:

(A) 3:2
(B) 5:2
(C) 8:3
D)y 7:3
(

E)  Question not attempted



61. fTrefrEd # ¥ HI9-91, @&t gfaat & e @6,
T gafavr s fafu d 2
T faT T fapedt 7§ He¥ SUYERT TR T AT
B
(A)  QEREIATET
(B)  SterrEn
(C) R &t ATTTi H WIp ol b el A

el

(D) A< H AT
(B) 3raRd w9

62.  y FrqRT HaEdt #iGR, T & fieiad | ¥
fpa g g Rea®?
(A)  TOTHYT
(B) 3B
Q) Hstar
(D) IS
(B)  argand e

63. WA & T HT, PI-TT IS OH, T, T,
TR a7 5= T & MR W WS & ue J
TR ?
(A)  ITWI21A
(B) IIT=T15
©) ITT=sT40
(D) 3r=33
(B)  Irqand wed

64. A qAT B T fRelt &8 1 20 TaT & &2 99 &,
ST B aUT C et 39 24 T # 2 o 2l afe
A, B TT C THetspt 33t 19 &1 16 fo7 # T ¥t B,
v A TUT C THAHT 3T T B [ha= e F BT v ?
(A) 30
(B) 32
(C) 34
(D) 28
(B) I IaRa ued

65.  TRHT eRIIT UY 8% AT & H 3 AV o Ahgig AT
3R FTOIROT ATST | 37T T 616 & | T8 &A1 A0
Exd
(A) T 24,000
(B) 31,250
(C) T 62,500
(D) ¥22,500
(B)  3raRd e

% DS22 11

63.

Among the following, the most eco-friendly
method for disposal of dry leaves is :

Choose the most appropriate answer from the
options provided below :

(A) Composting

(B)  Burning

(C) Stuffing into plastic bags and throwing in
the garbage bin

(D) Dumping in river

(E)  Question not attempted

In which of the following villages of Rajasthan is
the main Tripura Sundari Temple located ?

(A) Ranakpur

(B)  Deshnok

(©) Mandawa

(D) Umrai

(E)  Question not attempted

Which Article of the Constitution of India, deals
with prohibition of discrimination on the grounds
of religion, race, caste, sex or place of birth ?

(A) Article 21A

(B)  Article15

(C)  Article 40

(D)  Article3

(E)  Question not attempted

A and B together can do a work in 20 days,
whereas B and C together can do it in 24 days. If
A, B and C working together can do the same work
in 16 days, then in how many days will A and C
together do the same work ?

(A) 30
(B) 32
) 34
(D) 28
(

E)  Question not attempted

The difference between compound interest and
simple interest on a certain sum of money for
3 years at 8% per annum is X 616. Find the sum.

< 24,000
3 31,250
% 62,500
322,500
Question not attempted

B30=E

P.T.O.



66.

67.

68.

69.

70.

AfRET ¥ FF-TTTH TET-ITa USTgHE ? | 66.
(A) fefea
(B) wTEUR
) A
(D)  THTSAS
(B)  argand e
T ST H@ATE 5 : 6 % AT # & 3 37T LCM 210 | 67.
&, T 3T HCF 2R :
(A) 11
B 7
©) 14
(D) 10
(B) I aRa ueA
TEHaR 2024 #, TTT AATH AT SrHT (WA H) 5w | 68.
T AT ?
(A)  faer
(B) I
© w3
(D) AT
(B) IaRa ueA
INIAT TITATAT WA & Afargd & d {6 69.
ST / AT TS H BB ST & ?
T ToT 7T foshedt # o HOW IJUGT 3T BT AT
B
(A) TS, IR TS 3T AT U390
(B)  TrorerT, Tt 3
(C) TR, 7er UL 3 T
(D) Tt faeett 3R He wget
(B)  Irgand e
“TaEaE T g aRESAT 75 €9 | T | 70.
& frferiad et e wgar e
(A)  STergR AR aTet
(B) I TS
(C) <M
(D) &G 3R T®
(B)  3raRd e
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Which of the following is a protein-digesting
enzyme ?

(A) Trypsin
(B) Lipase
(©) Maltase
(D) Amylase

(E)  Question not attempted

If two numbers are in the ratio 5 : 6 and their LCM
is 210, then their HCF is :

A 1

B 7

© 14

(D) 10

(E)  Question not attempted

In December 2024, which team won the Syed
Mushtaq Ali Trophy (in India) ?

(A) Delhi
(B) Gujarat
(©) Mumbai
(D) Tamil Nadu

(E)  Question not attempted

The Aravalli Range runs through which of the

following States /Union Territory of India ?

Choose the most appropriate answer from the

options provided below :

Rajasthan, Uttar
Pradesh

B)  Rajasthan, Delhi and Gujarat

C) Rajasthan, Madhya Pradesh and Gujarat
D) Rajasthan, Delhi and Madhya Pradesh

Pradesh and Madhya

E)  Question not attempted

The “Sidhmukh Major Irrigation Project” primarily
benefits the following districts of Rajasthan :

(A) Jodhpur and Pali

(B) Kota and Jhalawar

(©) Tonk and Bundi

(D) Hanumangarh and Churu
(E)  Question not attempted



71.

72.

73.

74.

75.

% DS22

T P! (Union List) WRAM Hiqem= &t 6w
A BT e TR ?

(A) 7th
(B) oth
©) 11th
(D) eth
(

E)  Srid ued

fr=fataa & o Si-a1 98t & gIor &7 8T TEr
AATSTATE ?

T fqT 777 fospedt # ¥ oW SUYER S HT A
B

(A)  3rfere geETAITa

(B)  HSTIREA H It

O s=ITEEH fauTEar

(

(

>

D)  37fe gA™ AT
E) 3raRa wed
T[STEUT Bt TEeTt ATSHAT HAT B o ?
(A)  TERRTIS
(B)  weTIETIS
©) femrHaRt
(D)  HHAT AT
(B)  3raRd e

T ([ ST R e
P ?

(A)  Srearrgid
(B) SrawHe e
(©) s
(D) =ieTrord gitet
(B) I IaRa ued
TEIOT S F1 TET & T Bl Yehe AT, TEEIATE :
(A) g

(B)  Iiadt

© @

(D)  srrTelt

(B)  Irgand wed

71.

72.

73.

74.

75.

13

The Union List is part of which schedule of the
Constitution of India ?

(A) 7th

(B) oth

© 11th

(D) 6th

(E)  Question not attempted

Which of the following is not considered as a sign
of soil degradation ?

Choose the most appropriate answer from the
options provided below :

(A) High soil salinity

(B)  Increased soil erosion
(C) High chemical toxicity
(D)  High humus content
(E)  Question not attempted

Who was the first woman Minister in Rajasthan ?
(A) Vasundhara Raje

(B)  Yashoda Devi

(©) Diya Kumari

(D) Kamla Beniwal

(

E)  Question not attempted

Which of the following is the second-largest
artificial lake in Asia ?

(A) Didwana Lake

(B) Jaisamand Lake

(C©)  Sambhar Lake

(D) Kolayat Lake

(E)  Question not attempted

The trait that expresses itself in F1 generation
is:

(A) Dominant

(B) Mutant

(C) Hybrid

(D) Recessive

(E)  Question not attempted

P.T.O.



76.

77.

78.

79.

ST 3T Gmail T UF 38 (@ &, df Fefaiad
H I BT TIehed Taf ST A8t BIaTE ?
(A) T BRI
(B) gHNIISIS
©) g
(D) o< BRI &7 fasea
(B)  3raRd e
o= ¥, e Hifa st w5t 10t wafr
HINA B ISh F, WIT {orar ?
(A)  fogw=t
(B) AT
Q)  frgmwt
(D) ot
(B) 31 aRd e
frferiaa # g1 # 37 77 wifass ot &7 get-2
H & 17 37 et ¥ faa B S 37 on B ue i
FIATE :
-1 -2
(Wfmron) (erTq)
(@ | HAY FH A W () | FIETH (Na)
AT
(b) | ST ST A= | (i) | TR (Hg)
Y BT STHBATE
() |Fwm®TIPE | (i) | =@ (Pb)
qAD
(d) | FSTEFAEE  |(iv) | TE(Ag)
e faeed # ¥ W& 3R =4 :
(A)  (@)-(i), (b)-(1), (c)~(ii), (d)-(iv)
(B)  (@-(), (b)-(iii), (c)-(ii), (d)-(iv)
(©)  (a)-(iii), (b)-(i), (c)-(i), (d)-(iv)
(D) (a)-(i), (b)-@1), (c)~(iv), (d)-(iii)
(B) I IaRa ued
TR 3 IqH I5 & T99 |, TSI H,
frerieTiad & 9 Biadt-TerE &t et A oY ?
(A) TSR mE
(B)  fyrasmdr
(©) T
(D)  3TARQE
(B)  3raRd e
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76.

77.

78.

79.

While composing an email on Gmail, which of the
following options is not present ?

(A) Attachfile

(B)  Insert emoji

(C) Resend

(D)  Text formatting options

(E)  Question not attempted

Who participated from Rajasthan, in the 10th

Governing Council Meeting, of the NITI Aayog ?
(A)
(B)

Finance Minister
Chief Minister

(C©)  Education Minister
(D) Governor
(E)  Question not attempted

Match the physical properties given in List-1 to the
metals that exhibit those properties given in List-2 :

List-1 List-2
(Physical Properties) (Metals)

(@) | Liquid at room |(i) Sodium (Na)
temperature

(b) | Can be easily cut |(ii) | Mercury (Hg)
with a knife

(c) | Excellent (iif) | Lead (Pb)
conductor of heat

(d) | Poor conductor of |(iv) | Silver (Ag)
heat

Choose the correct answer from the options given
below :

(A)  (a)-(i), (b)-(i), (c)-(iii), (d)-(iv)
(B)  (a)-(1), (b)-(iii), (c)-(ii), (d)-(iv)
Q)  (a)-(iii), (b)-(i), (0)-(id), (d)-(iv)
D) (@-(i), (b)-(), (c)-(iv), (d)-(iii)
(E) uestion not attempted

Which of the following was not a style of turban in
Rajasthan, during the medieval times and beyond ?

(A) Khanjar Shahi

(B)  Shivshahi

(©) Pomcha

(D)  Amarshahi

(E)  Question not attempted



80.

81.

82.

83.

84.

% DS22

% 2,50,000 TR 15 FEIAT BT 12% ATYH 3T F Tehghs | 80.
STST FIA Y, ST TS SAETATIoh HAITTd &l &2
(A) 39,300
(B) < 46,802
(©) 39327
(D) ¥ 38,400
(B) 31 aRd e
TSR & TS TS H Jaierd dArep-ba, |81
ST+ g S 3SR § Fatrae & f @@= # Hie @
F STATIATATS, I B & -
(A)  FEg
(B) <ite
(©) =f=AT
(D) T
(B) IraRa ueA
T e S i faeEw 99 & o B 2 g, |82
TP F A B
T UG I I |
(A)  STefaRwn
(B) 3swA
©) sitm
(D) &
(E) a9
TISTRAT |, STl AHTE HLI07 3 TeTU, 379+ Ut < | 83.
FROT, FrAfaREd § ¥ 6 ‘TAIST’ F T H ST
STATE ?
(A) T fHE
(B) i TaE
(©) yamfaE
(D) 3T
(E)  rgand 9=
Frferiaa & o Topm T &1, ‘TSI BT FAR HeT| 84.
STATE 2
(A)  drereT™
(B)  SwATISIT
© =TI
(D) =TT
(B) 3 IaRa ueA
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Find the compound interest on I 2,50,000 for
15 months at 12% per annum compounded half
yearly.

(A) 39,300

(B) 46,802

(C©) 39327

(D) 38,400

(E)  Question not attempted

The folk art-form prevalent among tribal
communities in Rajasthan, wherein a needle-like
tool is used to insert black pigment into the skin for
adornment, is called :

(A) Kavad

(B)  Veel

(©) Mandana

(D) Godana

(E)  Question not attempted

Substances that turn blue litmus paper to red are
in nature.
Choose the most appropriate answer.

(A) hydrophobic

(B) neutral

(©) acidic

(D) Dbasic

(E)  Question not attempted

Who among the following, is known as the

‘Waterman’ for his efforts, in water resource
conservation in Rajasthan ?

(A) Gopal Singh

(B) Rajendra Singh

(C) Pratap Singh

(D)  Arjun Lal

(E)  Question not attempted

Which one of the following saints, is known as the
‘Kabir of Rajasthan’ ?

(A) Laldas

(B)  Jasnathji

(C©) Dadu Dayal

(D) Dhanna Bhagat

(E)  Question not attempted

P.T.O.



85.

86.

87.

88.

89.

Trfaiad # & SI-H 74T TR T8 B TET® 7ot
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(A)  HrelrTer

(B) =T

© gFS

(D) #He

(B) 31 aRd e

TRAT HT HABA WRA & B GTBe BT ATHIT
fepaT wfera & 2

(A)  7.8ufeTd

(B)  10.4 Wfcerd

©  1419f@

(D) 5.3 ferd

(B) IrIaRa ueA

o TTYA QTS A A TS TS & R
Tagte fpar a2

T feT T fapedt 7 ¥ e SUgE TR BT AT
L

(A) T

(B)  YTomT TSt e

© A Rre

(D) TomEmET

(B) IraRa ueA

2011 F TAOET & AR, ToRATT B TAGET
T TSt STARTOTT 1 AT H :

T feT T fapedt 7 & e SUE TR B AT
L

(A)  weTE

(B)  SaATEITE

© wmE

(D) ToReft it A<Ih o Tl & ST Jehall

(E)  3rfaRa ued

TSR % [HE & B, “Hieal HT & 6 FaT
STATE ?

(A)  eIEed

(B)  sler

©  SEerHT

(D) S

(E)  rgand 9=

86.
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88.

89.
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Which of the following is a tributary of the
Gambhir River ?

(A) Kalisindh
(B)  Sesa

(©)  Sukri

(D) Morel

(E)  Question not attempted

Rajasthan ~ constitutes  approximately = what
percentage of the total area of India ?
(A) 7.8 percent

(B)  10.4 percent
(C©) 14.1 percent
(D)
(E)  Question not attempted

5.3 percent

Which Rajput ruler revolted against Mughal
Emperor Aurangzeb ?

Choose the most appropriate answer from the
options provided below :

(A) Rana Pratap

(B) Rana Raj Singh

(©) Raja Man Singh

(D) Rana Sanga

(E)  Question not attempted

According to the 2011 Census, the Rajasthan's
population density in comparison to the previous
census has :

Choose the most appropriate answer from the
options provided below :

(A) decreased

(B) remained the same

(C) increased

(D)  there is no way to tell
(E)  Question not attempted

Which city of Rajasthan, is also known as the “City
of Bells” ?

(A) Jhalrapatan

(B)  Jhunjhunu

(C) Jaisalmer

(D) Jalore

(E)  Question not attempted
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91.

92.

93.
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WA St STATOTT 2011 & AR, FT 10 Tyt & 3 | 90.
T & rAteriad forat # 9 o fotel 7 @mgrar
T Y AT A ?
(A) T
(B) W
©) =i
(D)  STRATR
(B)  3raRd e
FERTOT JaTT gaTg 37T, frieriaa § o e w2 |91
wRuAE?
(A) =ar®
(B) Huzan
©) S
(D) T
(B) IraRa ued
8 ¥ 10 STFaLY, 2025 & ST, 1897 FaTHt AR | 92.
feaw T, Fal e e T o ?
(A) TS, FATe®
(B)  SE=eER, TS
(©)  3EHSEIR, o
(D) =% faeeit
(B) IraRa ueA
AT &3 o Tt & foTg, ST SR &R 3T | 93.
TSC 2025-26 F ITUR TATARId H T HiA-Y
FTIHH L& HIH B HETTATE ?
(A) AT STt A4 T aREtsTT
(B) AT U WHAT &1 Tt H1ise
(C) T SITTHT ST HTIHH
(D) W&t ST fasm T
(B)  3raRd e
WRA B STAOAET 2011 F IR, TSI F |94
frfafea # o few e § femmama (wfa 1000
T O AT HI W) T HH Is1 (647 747
aqr?
(A) AR
(B)  wamwTe
© dieqR
D) FRR
(B) 3 IaRa ueA
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As per the Census of India 2011, from the given
options which of the following districts, recorded
the highest literacy rate in Rajasthan ?

(A) Jhunjhunu

(B)  Sikar

(C) Baran

(D)  Sri Ganganagar

(E)  Question not attempted

In which of the following places, is the Maharana
Pratap Airport located ?

(A) Dabok
(B) Khandela
C) Jaipur
Pushkar

(
(D)
(E)  Question not attempted

Where was the 18th Pravasi Bhartiya Divas
Convention held, during January 8 to 10, 2025 ?

A) Bengaluru, Karnataka
B)  Bhubaneshwar, Odisha
C) Ahmedabad, Gujarat
D) New Delhi

(E)  Question not attempted

(
(
(
(

For the development of border areas, which of the
following programs, is said to be launched by the
Rajasthan Government, as per the State Budget
2025-26 ?

(A) Mukhyamantri Seema-Varti Kshetra Vikas
Pariyojana

(B) Mukhyamantri Thar Seema Kshetra Vikas
Karyakram

(C©)  Mukhyamantri Jaisalmer Utthan Karyakram
(D)
(E)  Question not attempted

Mukhyamantri Jaisalmer Vikas Yojana

Which of the following districts of Rajasthan,
recorded the lowest sex ratio, (number of females
per 1000 males) in the Census of India 2011 ?

(A) Jalore

(B) Pratapgarh

(©) Dholpur

(D) Dungarpur

(E)  Question not attempted

P.T.O.
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96.
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99.

frfafaa 9 9, ®19 J@ERT T, & e
HATBN A ?
(A) IHIH
(B)  STUEIT WAL
(© AT
(D) =S|
(B)  Irgand wed
TATed 7 ¥ fpa oatare! % g5 § THaT B
HATHTAdT (BT AT ?
(A) T e
(B) TmITRTHE
(© wom3=E e
(D) TSATSET JA
(B)  Srqand e
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(A)  FHRY
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(A) 28E
(B) 24
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(B)  3TaRd e
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(B)  Irgand e
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Who among the following, was a famous artist, of
the Shekhawati Khyal ?

(A) Ugam Raj

(B)  Jaydayal Soni

(©) Nanuram

(D) Lachhi Ram

(E)  Question not attempted

Who among the following led Akbar’s forces in the
Battle of Haldighati ?

(A) Raja Man Singh

(B)  Raja Amar Singh

(©) Rana Udai Singh

(D)  Raja Todar Mal

(E)  Question not attempted

Which of the following is not a Web Browser ?
(A) Safari

(B)  Opera

(©) Google Chrome

(D) KompoZer

(E)  Question not attempted

A boat covers a certain distance downstream in
1
1 hour, while it comes back in 15 hours. If the

speed of the stream is 7 km/h, then what is the
speed of the boat in still water in km/h ?

(A) 28—

(B) 24

(© 35

(D) 21

(E)  Question not attempted

The monthly salaries of Ram, Ajay and Aslam are
. . 1 1 1
in the ratio —:—:—.
15 10 6
increased by 10%, 10% and 20% respectively, then

their salaries will be in the ratio :

If their salaries are

(A) 15:10:48
(B) 22:33:60
(C©) 22:30:55
(D) 23:33:60
(E)  Question not attempted



100.

101.

102.

103.

T ZiS] HTUROTAAT 9 8 § W FTAT &, o[ aoil §[100. A cistern is normally filled in 9 hours but takes

IR % BRI IH WA H 6 H 37T o | I¥ A gU

BT 1 T SN b= He | Wit BT 20 ?
(A) 23
1
®) 2
1
© 247
(D) 20
(B)  3raRd e

TS 2025 F 37d H, TTEATT TN 3T W T [101.

F TFT UBA & @A, TSI Hib-1gd
(TETHIT) M (BT T g 2

(A) I IS
(B)  3if¥aT e
Q) 3T ofies
(D) 3T I8TH
(B) 31 aRd e
128 FT GTI-334T, 80 F TR-GTad T ThaT wiaera | 102.
A 7 ?

(A)  25%

(B)  30%

(C) 35%

(D)  20%

(B) IraRa ueA

TSTRT & AR Bdelt o T oy Rera & 2 103.

T fqw a7 fasedt # ¥ o9 SR S HT A
L

(A) IR

(B)  dieTeX

©  sEE

(D) SfreqE

(B)  Irgand e
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6 hours more to fill because of a leak in its bottom.
If the cistern is full, the leak will empty it in how
many hours ?

(A) 23
1
®) 2
1
© 24
(D) 20

(E)  Question not attempted

Under which of the following initiatives of the
Rajasthan Government and the Government of
India, were state-wide mock-drills organized, in
late May 2025 ?

(A) Operation Safeguard
B)  Operation Shelter

C)  Operation Shield

D) Operation Rakshak

E)  Question not attempted

By what percent is five-eighth of 128, is more than
four-fifth of 80 ?

(A)  25%
(B) 30%
G 35%
(D) 20%
(E)  Question not attempted

In which place of Rajasthan do we find the
Rampuria Haveli ?

Choose the most appropriate answer from the
options provided below :

(A) Udaipur

(B)  Bikaner

(©)  Jhunjhunu

(D)  Jodhpur

(E)  Question not attempted

P.T.O.



104. FaAT FT ABR MUHHEIA (2005) F A,
fr=foafaa & 9 e fawg 9 ddfua SRt &
TS IHI0T F AT A G ST E 2
Y ST IA A
(A) U SHRT STT WA HF ThaT 3T ATHAT HY
T H ST ThAT 2
(B) WESIH® HE@Al § e TR %
TR 3T BT
(C) et TR FATET ST I MU &S b
ot
(D) et Toslt fvmr & wrafer sH=REt grT
T HITA I
(B) 3raRd e
105.
R
T T 2T 9TET X | 2017 H 6 HEMAT & [T I5H
3T et ATEAT (BT #) T UsTIehoT ST E |
T ;AT H TECT TEAT ATEHT BT F2ATA 2 3R FwAy
T ol ATEAT B ST 5
ToU TTT 3tihST % MR W1, TG 2017 B AT A
IV 2017 H TH F AT, ATEAT P USHBI0T |
A gfs g
(A) 8050
(B) 9500
(C) 9000
(D) 8000
(B)  3raRd e
106. AR % WITITH & JTHAN, TUF WARATT ARTND BT
PES % fp Tg gfau™ &1 ate B, 9 ar
T o TS €T 3T T[S T T THATT B |
(A)  FTqHTd SR
(B)  wifeTe e
(C)  —ITTeh 3TRIBR
(D)  wifeTes TRIHR
(B)  3raRd e
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104. Under the RTI Act (2005), there is an exemption

105.

106.

from the obligation of disclosure of information
relating to which one of the following matters ?
Choose the most appropriate answer :

(A) Information that may jeopardize the
Integrity and Sovereignty of India

(B) Powers and duties of officers deputed
within public offices

(C) Categories of documents held by a
Government office

(D) Monthly remuneration received by office
staff of a private corporation

(E)  Question not attempted

50

Mar

Jan Feb May
The given data shows the registration of bikes and
total vehicles (in thousands) for 6 months in 2017
in City X.

Note : In the chart, the first number represents
bikes and the second number represents total
vehicles.

Based on the given data, the increase in the
registration of vehicles other than bikes in April
2017 in comparison to Jan. 2017 is :

Apr Jun

(A) 8050
(B) 9500
(©) 9000
(D) 8000
(E)  Question not attempted

According to the Constitution of India, it is the

of every citizen to abide by the
Constitution, to respect the National Flag and the
National Anthem of India.

(A) Fraternal Right

(B) Fundamental Duty

(©)  Judicial Right

(D) Fundamental Right

(E)  Question not attempted



107. TRUT & [FH RS B, ‘Gl HT &1 Hed’ Hal
STATE ?
(A) AT HEA
(B) T wEe
€ rHEA
(D)  TagwEA
(E)  Sraid ued
108. TRUTE H, AT TR W BIH-UT Fared =TS
TS ?
(A)  I=T T
(B) STl U = ey
(©) =T ATSTRE HT T
(D) URER AT
(B) IaRa ued
109. ISRAT TR F Aed Thet forer fawmr & w=t
(ST 2025 % STTAR) B & ?
(A)  wA feaTER
(B) o E
(O SR YA
(D)  FRISTaT
(B) 3raRd e
110. feaRmT=FaTR?
T fgw Ty fosedt # ¥ o9 SR ST HT A
Eg
(A) HiFedIR # FfedT BT IaT TTET 3T 32 S
T Bl TR
(B) HIFEITT Bl a1 HIA Pl ArpaAT
(C)  WlredaR T I i wlehar
(D)  wis fora= it ufean
(B)  3raRd e
111, frfaiad # |, 769 ame-9= &1, 'dJq 9 & & H
RTTepd [hIT ST ABAT S ?
(A)
(B)  rauTER®T
©
(D) e
(B) rIaRa ued
% DS22 21

107.

108.

109.

110.

111.

Which monument of Rajasthan is known as the
‘Hawa Mabhal of Jhunjhunu’ ?

(A) Lalgarh Palace

(B)  Chittar Palace

(©) Rang Mahal

(D) Khetri Mahal

(E)  Question not attempted

The highest judicial court, at the district level, in
Rajasthan is :

(A) High court

(B)  District and Sessions court

(C)  Court of the Judicial Magistrate

(D) Family court

(E)  Question not attempted

Who is the Minister of School Education

Department under the Government of Rajasthan

(as of June 2025) ?

(A) Madan Dilawar

(B) Gajendra Singh

(C©) Jogaram Patel

(D) Kirodi Lal

(E)  Question not attempted
What is debugging ?

Choose the most appropriate answer from the
options provided below :

(A) The process of finding and fixing errors in
software

(B)  The process of deploying software

(C)  The process of installing software

(D)  The process of writing code

(E)  Question not attempted

Which one of the following musical instruments
can be classified as a “Tat Vadya’ ?

(A) Tasha

(B) Ravanhatha

(©)  Turhi

(D) Kanjira

(E)  Question not attempted

P.T.O.



112.

113.

114.

115.

116.

FHET HI T o ST IS fSaTeH § FeA
% foru opt ere R fearew &1 suaiv fpar st s 2
(A) TEEFE
(B)  Ttherd TS
© vwTEEtr
(D) TAsTEH
(E)  Sraid ued
FIATHET TSN THIRTYT TSI & Frfaiad
AU pT g H R ?
(A) BT AT AT
(B) 37T 3R HXAUR
(C) TH IR
(D) game 3T FaeieTe
(B) 3raRd e
Afeat gry Mgt sTaTel ¥ a9 aTe! [Het &1 6t
TR :
(A)  wrege fagt
(B) et gt
(C) o Tt
(D) et et
(B)  3raRd e
WA 2025 H, TFY WRAT Red 9% (RBI) #
IU-TTa= ot fear a3k & g ug o forge B
T T AT a4l 2
(A) AR
(B)  TdIy WA
(© it et
(D) IS TST IO
(B)  3raRd e
MS PowerPoint H gielhe TS I & faw
FrfeTiEd # & Hi-TF QTEHe Hoit HT STTNT [T
ST ?
(A) Ctrl +Shift + N
(B) Ctrl+Alt+D
(C) Ctrl+Alt+N
(D)  Ctrl + Shift + D
(B) rIaRa ued
22

112.

113.

114.

115.

116.

Which hardware device is used for connecting a
computer to audio output devices like speakers ?

(A) Sound Card
(B)  Graphics Card
(©) ssb

(D) NIC

(E)

The Sitamata Wildlife Sanctuary is situated in
which of the following regions of Rajasthan ?

Question not attempted

(A) Bikaner and Nagaur

(B)  Alwar and Bharatpur

(©)  Sikar and Jhunjhunu

(D) Pratapgarh and Chittorgarh
(E)  Question not attempted

The soil type formed due to sediment deposition
by rivers is known as :

(A) Laterite soil

(B)  Alluvial soil

(©) Red soil

(D) Blacksoil

(E)  Question not attempted

In April 2025, who has been appointed as the
Deputy Governor of the Reserve Bank of India and
is also the first woman to hold this position ?

(A) Poonam Gupta

(B) Santosh Agarwal

(©) Jyoti Sharma

(D)  Anju Rathi Rana

(E)  Question not attempted

Which of the following shortcut key, is used for
creating a duplicate slide, in MS PowerPoint ?

(A) Ctrl +Shift + N

(B) Ctrl+Alt+D

(©) Cul+Alt+N

(D) Ctrl + Shift+ D

(E)  Question not attempted



117, TSTRATH H B9 A Bl MG BT HH W FaT | 117.
STATE ?
(A) g i
(B)  STOTSaX HaAT
(C) TEwit HoaTorsH HelT
(D)  STYacAT HTAT AT
(B)  argand e
118. [ATREd H § PIF-HT Bl TSI HT g I | 118.
FEATATE ?
(A) TfesT
(B)
(G
(D)  TRTEATt et
(B) 3raRd e
119. \RA & IR-IREH T A () HT A=A, | 119.
frAfaRET # 8 P e e Raa 2
(A) SR
(B) U
© 3™
(D) BET
(B)  3TaRd e
120. TF ToolaTsT = 2197 TRY H 84 TF T9TT, fHEH 3961 [120.
3T 2 T 91 AT | SHEBT 21 TTRAT 6T 3T S
(A) 423
B) 4677
© 48T
D) 4=
(B)  3raRd e
-00o0-
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Which fair in Rajasthan is also called the ‘Kumbh
of the Tribals” ?

(A) Bhartrihari Fair

(B)  Baneshwar Fair

(C©) Diggi Kalyanji Fair

(D)  Sheetla Mata Fair

(E)  Question not attempted

Which one of the following flowers is known as the
‘State Flower” of Rajasthan ?

(A) Rohida

(B)  Kaner

(C©) Lotus

(D)  Desert Rose

(E)  Question not attempted

The headquarters of the North-Western Railway
Zone of India, is located at which of the following
places ?

(A) Jodhpur

(B) Jaipur

(©)  Ajmer

(D) Bikaner

(E)  Question not attempted

A batsman makes 84 runs in his 215t innings and
thus increases his average by 2 runs. His average
of 21 innings is :

(A) 42runs
(B) 46 runs
(©) 48runs
(D) 44 runs
(E)  Question not attempted

P.T.O.
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